mercoledi 19 aprile 2023  08:58

> ol

1y

> o

2z+2t(=21> — I+‘1:P

a—d = __>\ = Q@
Z \(

ﬁ: Z’—\ = Q@
1

ol _ —(z+7—|>)=0



com G.NV{A( Wecews hasy !
y Uheonom




J,,,VNWL

>C =

<o No
2p
l'QE ANAX A ore
P
2

>
of Yo pud Q(2, 4, -2) fem the

-a.v{'um.c/ xa+t(2+z'2::[. -

Q(Z,_-{,/—’Z)



o\/(p/ Q) _ ,\l(x-Q)2+ (1-4)1+(z+2)1

ol 2 2 2
- J?x—z) + ({ 1) + (z+2)
5t X + \(2 + Z = 4



2L | g(x-2) - )= -0
Iz

% - 2(y-1) - 2\7 =0

3 _ 2(z+2) —fo =0
SZ

®’

2 2 2
= x+k{+z =4

rx_Z—\'?C =0

(41-\) x = 2
‘k‘-i—k - o (1-\)y - 4
/vz+2—>\l'=@ (4-A);1=—2

x2+12+22=i xz-*‘{z* 7% -4

(4-\) x = 2
[J—A)T = 4
(41-X) z - -2






2

+ (1 -:L)z+(z+2)

,\l (x—Q)2

d.(p a)

|

~ e

Nl m

N

~lm

MN\.

|







2 4 (.(“ - F = @

2% + 4..( S = O

Z = x*4 h{z = 'Il+ Z2 =5
Z = 274—‘—4‘( = 2J +42 ___40

A (?,1):(112) dony  mol LWLMy L the

L= v, z, \//b) - x+3y -7
_X (z,2+«12_z> —/L(21+4‘1—Z)

%zi_zkx-zlwzo

S~
M = 3 —2& - < = O (2X7C=i‘2
2 1 F 2XT =3—4;:/
%: — 4+ A +/4/=o *)\—L/&:i

2 x* t{z: 2144\(

z = 2>c—r4~(

("‘r\

Z = 22+L(
z =22:+4‘1




“

= 39N _ 3-4(A-N) _3-64al
\l _2§7&- 2 B 2N ~-2i>‘—}2
/,4,:4—\
2'2_214‘12—41 = O
\Z=2x+4kf
32—2x+_~£ +‘(z—41+"*‘§ = 4+ +<
2 2
(x—:[) + (‘(‘2) = 5
5 2
(&) (Fe2) -
4 1 .5 -
NS /o T
2 4 \ =
2 _
o/ R
A(F o, AE vz, 30w o) L e
B +4, = w2, 3m+4o> prbel e



